10D R REHTET (D BDEEN)

7.693 x

10.535 x

8.631 x

3.053 x

2.175 x

10.878 x

1.909 x

3.128 x

6.084 x

=769.3

= 10535

= 86.31

= 30353

=21.75

= 108.78

= 1909

=312.8

= 60.84

10.388 x

10.566 x

9.485 x

Aics:

= 103.88

= 1056.6

= 948.5

3.378 x

=337.8

2.147 %

=214.7

10.182 x

6.379 x

=1018.2

= 6379

6.094 x

= 60.94

3.801 x

= 38.01

10.475 x
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=1047.5

Ad7:



https://www.snowmath.com

100 R R=HNTET (D RDEEN)

8.973 x 10 = 89.73

7.693 x 100 = 769.3

10.535 x 1000 = 10535

8.631 x 10 = 86.31

3.053 x 1000 = 3053

2.175x 10 = 21.75

10.878 x 10 = 108.78

1.909 x 1000 = 1909

3.128 x 100 = 312.8

6.084 x 10 = 60.84

=]

10.388 x 10 = 103.88

10.566 x 100 = 1056.6

9.485 x 100 = 948.5

3.378 x 100 = 337.8

2.147 x 100 = 214.7

10.182 x 100 = 1018.2

6.379 x 1000 = 6379

6.094 x 10 = 60.94

3.801 x 10 = 38.01

10.475 x 100 = 1047.5
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